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QUESTION 1

You create a quality of service (QoS) policy group called untest_apps with a maximum throughput of 300 MBps. You
add one volume to the policy group, and then you add a second volume to the policy group. 

In this scenario, which statement is true? 

A. The maximum throughput of each volume is 600 MBps. 

B. The combined maximum throughput of both volumes is 600 MBps. 

C. The maximum throughput of each volume is 150 MBps. 

D. The combined maximum throughput of both volumes is 300 MBps. 

Correct Answer: B 

 

QUESTION 2

With which type of I/O is data compaction beneficial? 

A. I/O and files 16 KB or larger 

B. I/O and files 8 KB or larger 

C. I/O and files less than 2 KB 

D. I/O and files 4 KB or larger 

Correct Answer: D 

 

QUESTION 3

You want to enable jumbo frames for iSCSI traffic on your cluster. To satisfy this requirement, what would you modify on
the cluster? 

A. broadcast domains 

B. igroups 

C. iSCSI LIFs 

D. network ports 

Correct Answer: A 

 

QUESTION 4

You configure a new LUN on a NetApp cluster, and you can successfully access it from the host. An application using
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the new LUN is having storage performance problems, and ONTAP is reporting misalignment on the LUN. 

In this scenario, what is causing the performance and misalignment problems? 

A. The LUN was created with the incorrect OS type. 

B. The host does not support ALUA. 

C. The igroup is configured without Selective LUN Mapping (SLM). 

D. The host is using a non-optimized SAN path. 

Correct Answer: A 

 

QUESTION 5

Which NetApp tool indicates whether you have applied data protection policies to all volumes? 

A. OnCommand Unified Manager 

B. Config Advisor 

C. Virtual Storage Console 

D. OnCommand Service Level Manager 

Correct Answer: A 
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